Question #57018, Math / Algebra

6: If log55 = 1.7, what is the value, of logsub1000"55?

A: 0.05801
B: 0.00174
C: 0.5801
D: 0.0174
log 55 =log,(, 55 = 1.7
1 1
1081000 55 = logy93 55 = §10g10 55 = 3 x 1.7 ~ 0.5801
Answer: C

7: Let logbA =1; loghC = 3; loghD = 4

What is the value of logh(A"5C/*2/D"6)

A: 26

B:-13

C:0

D: There is not enough information to answer the question.

6

A>C?
log,, ( D > = log,A® + log, C? — log, D® = 5log,A + 2log,C — 6log, D

=5%x14+2%x3—-6%4=-—13
Answer: B

8: If logM/N = 4 and logP/N = 7, what can you say about the relationship between M and P?
A: P =1000M

B: P =100M

C:P=3M

D:M=3P

1 M—4l P—7
%8N T8N T
M
logﬁzlogM—logN=4 =>logN =logM — 4
P
logﬁ= logP —logN =7 =>1logN =logP —7
P
logM —4 =1logP —7 => logP — logM =3 => 1ogM=3

P
103 = u => P =1000M
Answer: A



9: Solve the following equation for x:
logx + log(x+2) = log(3x)
A: There are no solutions

B:x=0
C:x=0,1
D:x=1
logx + log(x + 2) = log 3x
log(x(x + 2)) = log 3x
x(x+2)=3x
x2+2x—3x=0
x2—x=0
x(x—1)=0
x=1,x=0
Answer: C
10: Complete the sentence below:
In 25 is the power to which must be raised in order to produce a value of 25.

Answer:
In 25 is the power to which e (exponent) must be raised in order to produce a value of 25.



